MIAM I'DADE' \ MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305)375-2901  FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA)

Alufab Hurricane Shutter, Inc.
13000 N.W. 38™ Avenue
Opa-Locka, Florida 33054

Scopk: v

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHI). ‘

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.0295” (min.) Galvanized Steel Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 03-030, titled “ 24 gage Steel Storm Panel ”, sheets 1 through 6 of 6,
prepared by Tilteco, Inc., dated February 06, 2003, last revision #1 dated February 06, 2003 bearing the Miami-
Dade County Product Control Revision stamp with the Notice of Acceptance number and expiration date by the
Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 01-0913.01 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

NOA No 03-0225.02
Expiration Date: 11/22/2006
Approval Date: 04/10/2003
Page 1




-——-2.004'—~I

2357 ‘] 1. STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT HAS BEEN DESIGNED IN ACCORDANCE WITH THE 2001

EDITION OF THE FLORIDA BUILDING CODE.

. DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 16819 OF THE ABOVE MENTIONED CODE, FOR A BASIC. WIND
| SPEED OF 146 m.p.h., AND IN ACCORDANCE W/ ASCE 7-98 STANOARD.

% J STORM PANEL'S ADEQUACY FOR WPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTIONS

} 14.380" (TOTAL WIDTH) |

1.050" . . . i . 1.0s0"

1.400 2.041" 1.400" ~+1.230" =t—1.400" ~\~— 2.041 1,400
B l'— T ‘l [ — . .
-~
®. 094" 8
2 I
i N
.0295" Min. THIC ! )
GALVANIZED .
= : =083

1606.1.4 OF THE ABOVE MENTIONED CODE AS PER PA-201, PA—~202 AND PA-203 AS PER CONSTRUCTION
CORPORATION, REPORT No. 01-022,

i
1250
&

2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY ASTM A~65), GRADE 80, DESIGNATION W/MIN.
FY=97.77 kei (AFTER ROLLED) ANO TO BE G-80 GALVANIZED.

J. ALL ALUMINUM EXTRUSIONS SHALL BE 8083~T8 ALLOY UNLESS OTHERWISE NOTED.

3.375"

[}
12.000" (EFFECTIVE WIDTH) | Al oaen

@ PANEL | i ‘J'
SCALE: 1/2° = 1° AL _SRYT
\e L—z.rzs

2,125

4. ALL SCREWS 10 BE STANLESS STEEL JO4 OR 318 SERES W/ 50 ksi YIELD POINT AND SO kai TENSLE STRENGTH OR
CORROSION RESISTANT COATED CARDON STEEL AS PER DN 50018,

AN | 094" :fi N
_l I . J 3. BOLTS TO BE 2024—T4 ALUMNUM ALOY, GALVANZED OR STAINLESS STEEL, WITH 38 kel MNIMUM YIELD POINT.
'\? 5. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UMLESS OTHERWASE NOTED)

- g Y (A} TO EXISTING POURED CONCRETE:
-9 ~1/4"8 TAPCON ANCHORS AS MANUFACTURED BY LT.W. BULDEX OR ELCO TEXTROW.

1%5'. STLﬁI_D _7251—1 .625 @ wm @ —1/4° 8 x 7/8" CALK—iN ANCHORS AS MANUFACTURED BY POWERS FASTENING, INC.
’ 'LH" NOTES:

.125% "
5‘! l‘ @ 12°0 C (6005—T5 ALUMINUM ALLOY)
SCALE: 1/2" = 1 (6005~T5 ALUMINUM ALLOY) A1) MINWMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS IS 1 1/4°
SCALE: 1/2" = 1* A2) 7/8" CALK-IN ANCHORS SMALL BE ENTRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO STUCCO
2° MAX, i 0257 SHALL BE PERMITTED, 1/4"8-20 SCREWS USED SHALL BE 1 1/2° LONG MINWUM SHOULD STUCCO EXIST, AND 1° MINMUM
f“ . FOR WALLS WITH NO STUCCO. SCREWS SHALL HAVE J/4°8 HEAD FOR DIRECT MOUNTED PANELS, AND 3/4"8 OR /18
HEAD FOR ALL TRACKS OR PLATES

AJ) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEMIND SUCH PANELS, ANCHORAGE SHALL BE AS

INDICATED ON NOTES A1) & A2) ABOVE.

(8) TO EXISTING CONCRETE BLOCK WALL:
~1/4°8 TAPCON ANCHORS AS MANUFACTURED BY IT.W. BUILDEX OR ELCO TEXTROW.
~1/4" 8 x 7/8" CALK~IN ANCHORS AS MANUFACTURED BY POWERS FASTENING. INC.

1/4" # 5. S. STUD
RIVETED TO TUBE
o 12" 0. C

5.000"

NOTES: .
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTG THE CONCRETE BLOCK UNIT SHALL BE 1 1/4°

:
-
3.000"

SEE

Z Ki (Mﬂ! z‘ lz: ﬂﬁ!ﬁ‘ E @ DeETAL 1 § 8.2) 7/8" CALK~IN ANCHORS SHALL BE ENTERLY EMBEDOED INTO THE CONGRETE BLOCK UNIT. NO EMBEDMENT INTO
W bt STUCCO SHALL BE PERMITTED. 1/4°9-20 SCREWS USED SHALL BE 1 1/2° LONC MINIMUM SHOULD STUCCO EXIST, AND 1”
SCALE: 1/2" = 1" SCALE: 1/2° = 1* l MINIMUM FOR WALLS WITH NO STUCCO. SCREWS SHALL HAVE 1/4°8 HEAD FOR DIRECT WOUNTED PANELS, AND 3/4"s OR
9/18"8 HEAD FOR ALL TRACKS OR PLATES,

B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE
LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE | 1/4" MINMUM FOR
ANCHORS MENTIONED IN B.1). & 7/8° FOR ANCHORS MENTINED N B.2).

1250 |

-3 CONCRETE ANCHORS (SEE SCHEDULE) 3"~ ® ' ®
. KEY HOLE AT PANEL
1 Min. ! Aal);n. . LA L] (C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
SCALE: 1/2" = 1
MANUFACTURER.
Q a O/ / Q
T T — o e T T T o Ty e 7/ T r-T7-n . 25 7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETALS SHOWN ON SECTIONS | THRU 5 (SMEET
[ 1 1] 1257 - 2 & 3 OF 6) EXCEPT THAT HEADERS () & QSHALL NOT BE USED.
. 8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIY THE SOUNONESS OF THE STRUCTURE WHERE SHUTTER
1/4" # S, 5, STUD IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR
OIVE;E'POmCA”GLE i WOOO FRAME BUILDINGS.
g o § N\ 9. (a) THIS PRODUCT APPROVAL DOUCMENT (PA.D.) PREFARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
4 1 INFORMATION FOR A SITE SPECIFIC PROVECT; .o, WHERE THE SITE CONDITIONS DEVIATE FROM THE PAD.
SEE 3 (b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION OF THIS PRODUCT BASED ON THIS
oETAL 1 N PRODUCT APPROVAL PROVIDED HE/SHE DOES NOT DEVWTE FROM THE CONDITIONS DETALED ON THIS DOCUMENT.
! (c) THIS PRODUCT APPROVAL DOCUMENT WHL BE CONSIDERED INVALID IF MODIFIED.
@) 1/8%1_1/2°xCONT. PLATE DETAIL 1: |
- (d) SITE_SPECIFIC PROVECTS SHALL 8£ PREPARED BY A FLORIDA REGISTERED
SCALE: 1/2" = 1" STUD W/ WING NUT ENGINEER OR ARCHITECH WHICH WILL BECOME THE PROFESSIONAL OF RECORD
SCALE: 1% : 1" (P.O.R.) FOR THE PROJEGT AND WHO WAL BE RESPONSIBLE FOR THE PROPER VISED
- USE OF THE P.A.D. PROFESSIONAL OF RECORD, ACTING AS A DELEGATED DUCTRE
(Clw 1747 ALUMINUM PLATE —~ ENGINEER T0 THE PAD, ENGINEER, SHALL SUBMIT T0 TS THE STE SPecie  TRODUC ith the Florida
N g f,u("ssoa‘ ‘“ 1 DRAWINGS FOR REVIEW, as complying w
N i 7 ~ ‘ Buiding Code 275.01
N — - — - - - —0- — (o) THIS PAD. SHALL BEAR THE DATE AND ORIGNAL SEAL AND SIGMATURE Acceptance NoZ5— O .0
OF THE PROFESSIONAL ENGINEER THAT PREPARED IT. Expiration Date,
10. SHUTTER MANUFACTURER'S STICKER SHALL 8E PLACED ON THE EXPOSED B
=TT T 1T I T T -~ TTTTTT T 7-'1 1S SURFACE OF THE CENTER FLANGE OF EVERY PANEL APPROXIMATELY 4" ABOVE Y,
= = = == THE BOTTOM OF SUCH PANEL. STICKER SHALL READ AS FOLLOWS: M}ﬁ_ '
3 & & &/, & & L ALUFAB HURRICANE SHUTTERS Division
BOLTED PANELS W/ g OFA LOCKA, F1.
1/4"8-20x1" M.S. G ) MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED.
I 3\ Gor wy 7/eNaaet @ s - - “—?” I
Max. l Max. t =~
—mf Mox. | CONCRETE ANCHORS (SEE SCHEDULE, 2l WING NUTS @ : ‘ - COM P ON E N TS
o ) - OVERLAPS © MIDSPAN | — .- i o - F.B.C. (HV.HZ) / MIAMI—DADE COUNTY
Hn. in. o T ¥ ™
SCALE = NTS -15* 24 GAGE STEEL STORM PANEL e
; . 2/8/03

m /mm /ﬁ\ 13000 N.W. 38th Ave, 03—-030

TILLIT TESTING & ENGINEERING COMPANY OPA—LOCKA, FLORIDA 33054

“ Max. ax. SCALE: 1727 = 17 ;
[—1/4" Max. GaP /4" Max. 6P —| r / lILlE C O ine. \ ALUFAB HURRICANE SHUTTERS, Inc.| ™"

jo———" A 4
8595 N.W. JIsth, St Ste. 217, VIRGINIA GARDENS, F1 33166
Phone : (305/871-1530 . Fox : (305)871~1831 DRAWING No
TI N "‘A E EB~0006719 MY, NG DESCHPTION SATE MY, Ne DESCRPTION MIE
SECTION A-A WALTER A. TILLIT Jr., P. E. ! apovie vl = L
FLORIDA Lic, 44167 i = = 4 - =

SCALE = NTS




Rt il e b RS ST s 2

’ CONCRETE ANCHORS ° iy
. (SEE SCHEDULE]) : TAPCON ANCHORS <
CONCRETE ANCHORS . (SEE SCHEDULE) A § . (SEE SCHEDULE) \\ ) 8 .
(SEE SCHEDULE}\ 8 . rtw, 5§ _1 ' 2%
£=x ' § § Zgggﬁnmcamm 1" f 3 E N CONCRETE ANCHORS T E===-~ '—-«- N Zg,‘v’c”ﬁ?m TESEEN N3
- \ SEE SCHEDULE) -
\ \ I N ( ) \\ T R . REQUIRED ‘\ : ;
CONRE ) R ' ,/® | /@
CONCRETE i W ! i i
REOUIRBD d @ E ..__@ AN CONT. : : CONT.
Cont. - ] Cont. . N N \l | N
\L 3 S SULRNN SO g
\\\\ AN i ! . i » 3
o :) | | : > N : e e 3
At A Q v ) Q 7 ! Vo Lsreer o 7 ! (I Py S TR
v v . . v . . ' s us w SEE_SCHEDULE $s us W
/4" #-20 x 1 /4" #-20 x 1 / 7/8" # x .3//32' FOR Min, / 7/8% 8 x 3/32° g
L ss us w SS MS W o WING NUT © SEPARATION TO WING NUT O .
78 8 x e x s G EVERY OVERLAP § EXISTING GLASS EVERY OVERLAP &
nr ] AT THE MOSPAN. ! AT THE MIDSPAN.
EVERY OVERLAP EVERY OVERLAP A H . A, | " &
AT THE MIDSPAN, Q AT THE MIDSPAN. g - & Y vV g
A v > .y ! SEE_SCHEDULE < Y oo 2 g
d ; SEE_SCHEDULE = SEPARATION 70 - Y S / g
. .
3 SEPARATION TO EXISTING GLASS g § 3
SEE_SCHEDULE ‘ [ | 3
R Min %I | g g
SEPARATION TO
_|EXISTNG GLASS|,_ & / | = 3 SN
» ] N \
3 ! | —— CONCRETE OR § T~
By POURED CONCRETE OR\ . CONCRETE BLOCK W - /|
| e N e CONCRETE BLOCK WALL\ REQUIRED s 5
oot ] EVERY STUD REQUIRED .Q . <
(] | o1zac < 2§ rmmmamd - POURED CONCRETE yd
st e OR CONCRETE BLOCK |
arEmarE F N P WALL REQUIRED /]
) ! . T ——
. \ u ‘ ; S CALK~IN ANCHORS © l '§‘ me=iant : ;
e W/ 1/4"8 ~ 20 TRU : 3
///// e ey 352 ot SECTION JA » \ B /\
X (SEE SCHEDULE FOR
CONCRETE. OR i SPACING) CALK~IN ANCHORS? oG} f
CONCRETE BLOCK ot o STUb @ 12 0. C. e " e, reuowee pane
R Do R ETETTE ) TS| e »
' CONT.  COWT. /4" x 3/32" THICK HEAD 0 &° ac. ' HOLES AT @ 8" 0.C & FASTENED

MACHINE SCREW W/ LENGTH AS /AT REAR W/7/8%8x3/32% WING NUT

@ EVERY SIDEWALK BOLT.

SECTION 38 **

- SE‘:"‘ZN l SCALE: 3/8" = 1" v -_— SEZEZEZN 2 SCALE: 3/8" = 1"
/4 ox1 " 5.5, SIDEWALK SECTIONS F  scue 38" = 1°

BOLTS, W/3/4" SLOTTED HEAD,
094" FIXED TQ INTERNAL REMOVABLE
e PANEL (1) THRU KEY HOLE(3)© E. D. = EDGE DISTANCE
4 083 8° 0.0. W/WASHERED WING (SEE SCHEDULE ON
- NUTS 4T AEAR WHOSE WINGS SHEe 4 0F 8 REMOVABLE PANEL
WING NUTS WHOSE WINGS I HAVE' BEEN BROKEN OFF. , PRODUCT REVISED
HAVE BEEN BROKEN_OFF 2 | * NOTE ;sc:mplg:dgwith the Floriia
5 | INTERNAL REMOVABLE PANELS SHOWN ON micing L00¢ 2 _
/ FOR COMBINATION OF SECTIONS : TOP & SECTION 3B SHALL ALWAYS BE INSTALLED IN| Acceptance Ne0S~ 0
L\ 7 I BOTTOM INSTALLATIONS INDICATED FOR BETWEEN REGULAR PANELS MOUNTED AS Expiration Date
\ \ g | SECTIONS 1 & 2 CAN BE COMBINED IN ANY SHOWN ON SECTION A
~ M | WAY TO SUIT ANY INSTALLATION. By
3 | Miami DadeProduct Control
. w I L1 & . i Division
% H
of B M- S |
QX -—H+HN | F.B.C. (HV.HZ2.) / MIAMI-DADE COUNTY
A, 1 INTERNAL - AS SHOWN
/ /N H -~ REMOVABLE 24 GAGE STEEL STORM PANEL SCALE
: L LY ! PANEL
7875'\ v ,l ’ 2/6/03
. DATE
" l"_ 'E c o ALUFAB HURRICANE SHUTTERS, Inc.
VARIES Q) KEY HOLE ® 6" O.C LLZ
. .C. 13000 N.W. 38th Ave.
TILLIT TESTING & ENGINEERING COMPANY OPA—LOCKA, FLORIDA 33054 03—-030
” ) MHN)'.WMS! Ste. 217, £l 131
DETAIL 2 — INSTALLATION OF 1/4"x1 EM_%"G@\ MBS T S B e T T | s ] OPAWING N
SIDEWALK BOLTS © REMOVABLE PANEL ™ g T L 1 T —c— = T
FEB 1% 7 FLORIDA Lic 44167 Z = 1 = -




Nt AR i A 0 k1 A b s i s B

750"
Min

@ cvr eno pane > 1/4'-7

/ / / ANCHORS CALK~IN ANCHORS O

4 [ (SEE SCHEDULE, W/ 1/4"¢ - 20 TRU. .
yd / ¢ ) 1/4 #-20 x 1/2" 5. S. £D” BoLT

/ MACHINE BOLT u;/ NUT (SEE SCHEDULE FOR
e & WASHER 0 12 G. C.

L
4
Y. . T l L /| concrere N
§ 3 SPACING) = : l V, W o N
on covcrere —EZ= =40 1 Yoy { * AR i I i ” \\< 5" Max
Buock waL |/ : p EVERY. STUD | /
REQUIRED = o 12° 0 cC POURED ) i i —/ L/ §
-
XA on covere L Gt e g a N
; BLOCK WALL - - REQUIRED
By Eam mER Y
m . . ~ N , v
J 3 || —Q@ ' ! g CASE A (Plan) sy S
| conT. ] | ' A L, 3 SCALE: 3/8" = 1° : e
: } l i A i 7 | bremar ot POURED CONCRETE $ ‘ O,
A/ LI Q / 55 MS W/ a OR CONCRETE BLOCK .
A, . 3 | %f ox .z/.n' . WALL REQUIRED @ @
' M R PR I | oo oe O \ AW
| AL g | | SRR | ST s ©=0
' AL L— '
; § AT THE MDSPAN. @ SEE SCH.;\BULE bt { § Jr‘“ :
| A, L . " ! FOR Min. | I g 1/4" ¢ BOLT 4" x 4" x 093"
V AV ~ separanioN 0 || | | E é Lfc.' K%uf' gmf-zu oR 508.10-;5 ALLOY
[ | | é EXISTING GLASS | : ) l'/@ By o ALTERNATE LEG LOCATION / 78 CAGE Gaiv. STEEL ANGLE
SEE SCHEDULE FOR Min. SEPARATION l I . - 3 o —p o . CASE B (Plan
10 EXISTING GLASS 1 l 5 e }/ 4 : y 7% &= 3 053" Cont, _( ” )
! L : - ! &, S v e
Q | OR 18'GAGE Gatv, STEEL
l' I~ @ § POURED - 4w } : s
s CONCRETE
| l Cont CONCRETE A RS
Cont. | BLOCK WALL _ i
W ] ! REQUIRED — e | !
O CONCRETE. BLOCK / é : { 4 ' '
WALL REQUIRED —/ i GQU(—IN'AN_CHORS [} f
LA _._4_:$ o Wy, 1/4°8 = 20 TR CASE C (Plan)
// —2‘, = | (SEE SCHEDULE FOR SCALE: 3/8" = 1* END CLOSURES DETAILS
Sl SPAGING) DIRECT MOUNTING INSTALLATION
: / - SECTION &  scae 3/8" = 1*
CONCRETE ANCHORS ‘
(SEE' SCHEDILE) /|

TRUSS HEAD BOLT To BE
J/4%0 x 3/32" THICK HEAD
MACHINE SCREW W/ LENGTH AS

SECTION @ ANCHOR

! A1 A -}\
i 1IN
/ ” »
SEE sc;-/srguglgno%u& SssEPARAnON__ | l § MU S/ PRESSU, (p.s.1.
: : [ CORRESPONDING MAXIMUM PANEL LENGTH "L~ SCHEDULE
' i ¢ MR | 0 | vt s | 8
! ' ~ W (p.s.t,) (SEE SECTIONS) 70 GLASS OF THEM PRODUCT REVISED
| l—--@ as complying with the Florida
| £ . . Buiding Code
| ] Cont. g *+76.3, =763 8-0 3 1/8 1 THRU 5 Aceeptance No_O —02.25-02—
Expiration Date o]
OWCRETE BLO ¥ : { b +45.0, -45.0 >8°-0" TO 10'~4" J 3/8" ! THRU 5 5
OR CONCRETE BLOCK v ; ]
WALL REQUIRED g [ E Miami DadeProduct Control
H . | N Division
Q i u°u§ | 3
& TaIERLY
F— ]
\\_,7{8'-::3/32‘ F.B.C. (HV.H.Z.) / MIAMI~DADE COUNTY
E. D. = EDGE DISTANCE agngsUrTug
ol o % cont.  ©1270.C 24 GAGE STEEL STORM PANEL AS SHoMN
SECTION @ STUD 2/6/03
E
| / | ILlEC O inc \ ALUFAB HURRICANE SHUTTERS, Inc. ol
BUILD—0OUT INSTALLATION - " 13000 N.W. 38th Ave.
%_g\ TILLIT TESTING & ENGINEERING COUP:’NYL OPA-LOCKA, FLORIDA 33054 03-030
= SECTIQN 4 SCALE: 3/8° = 1* = = %u"m(‘:&’a"}a;g;% bvfazg(m pad Tkt — —— P — DRAWING No
FEB 1 2 2003 R A TLLT e B E Ll osoew MR 3 - = suerr 3 oF 6




MAXIMUM DESIGN PRESSURE RATING “W” (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR

SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND C.B.S. STRUCTURES *

E. D. = EDGE DISTANCE

X SEE SHEET 5 & 8 OF 8 FOR ANCHORS TYPE &

SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.

¥ K MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE
DISTANCE. FOR E. D. LESS THAN 3 1/2°, REDUCE ANCHOR

SPACING 8Y MULTIPLYING SPACING SHOWN ON SCHEDULE

BY THE FOLLOWING FACTORS. (NOTE : Min. E. D. FOR CALK~IN
ANCHORS IS 2 1/2%). FOR THIS OPERATION TO BE POSSIBLE,
REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR
TYPE AT ANCHORS LEGEND.

ANCHORS LEGEND

FACTOR

ACTUAL E, D. -

TAPCON

CALK~IN

ANCHORS
TYPE

——ry———a
ANCHOR
MIN.
SPACING

TAPCON

3.0"

#m% MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2° » %72 A PANEL
W ey TAPCONS cuK-N ANY COMBINATION | LENGTH L” (rt)
10 CONCRETE | T0 Masomy Y10 concreTe| ro asoney OF THEN
12° N/A 12" N/A 1 (TOP)
10 1/2° o 12* a 1/2° 1 (BOFTOM)
12" N/A 12" N/A 2 (ToP)
12 10 12* 12* 2 (BOTTOM)
61.5, -61.5 12* N/A N/A N/A 34 & 38 (TOP) —g”
N/A N/A 12* 12" 34 (BOTTOM)
N/A N/A 5" 6" J8 (BOTTOM)
12* 10 12* 12 4 (T0P)
12" 10" 12" 12* 4 (BOTTOM)
N/A N/A 12° 12* 3 (TOP. & 80TTOM)
12 N/A 7 1/2" N/A 1 (TOP)
a1/ 5" 112"} & 1/2* 1 (BOTTOM)
10 1/2° N/A 12* N/A 2 (roP)
12" 8" 12* 11 1/2° 2 (B0TTOM)
>+81.9, -61.5 12* N/A N/A N/A - JA & IB (TOP) 8'-0"
+7s..3,m—7s.3 N/A N/A 12” 5" JA (BOTTOM)
N/A N/A &" 8" 3B (50TTOM)
12" 8" 12 1 1/2* 4 (T0P)
12* 8" 12* 11 1/2* 4 (Botrom) - §
N/A N/A 12* 8 |5 oo & somap)
12* N/A 12* N/A 1 (TO0F)
" 8 1/2" 12* 9" 1 (BOTTOM)
12" N/A 12* N/A 2 (ror)
12° 10 1/2° 12* 12° 2 (BOTTOM)
+45.0, —45.0 12" N/A N/A N/A JA & 3B (TOP) bbg'-0" 1D 104"
N/A " N/A 12* 12" JA (BOTTOM)
N/A N/A a" 6" J8 (80TTOM)
12* 10 1/2° 12° 12° 4 (ToP)
12* 10 1/2" 12* 12* 4 (50TTOM)
N/A N/A 12* 12° 5 (ToP & B0TTOM)

JJ

.86

75

I cak=in

25"

212"

71

.50

2.

.50

PRODUCT REVISED
as complying with the Florida

Buiding Code
Acceptance N

9 05-0

Expiration Date

N Z _.LZMWG

115.02

Miami Da mdu.ct Control
Division

F.B.C. (HV.HZ) / MIAMI-DADE COUNTY

Ot

FEB 12 2003

EB-0006719

/ liLTEC O ine. \

TILLIT TESTING & ENGINEERING COMPANY

1. ”1”‘

N.W. J8th, St., Ste. 217, VIRGINA
Fhone : (3058711530 . Fax : (.1:15%:—L 1531

REV. N DESCRPTION

DATE Y. Ne

24 GAGE STEEL STORM PANEL AS SmouN
2/6/03
ALUFAB HURRICANE SHUTTERS, Inc. il
13000 N.W. 38th Ave. 03-020
OPA~LOCKA, FLORIDA 33054
DRAWING No

1 s g1-238

2/4/03 J

2 -

— 4

SHEET 4 OF 6

WALTER A. TILLIT Jr., P. E
LLORIOA Lic 44167




4" x 8" (Min,) EXISTING WOOD—
> M WOOD HEADER Y A BEAM REQUIRED. STRUCTURAL A 1" x 4° x 1/8° (Min.)
1N "~ REQD. ~ 1/4"8 x 3" LAG SCREWS @ 6" 0.C ggg%g@g@gﬁggg Wooo / 6063-T5 Alum. TUBE W/ (2)
1/2" Min. PENETRATION TO - .
] / 1/4°8 x 3" LAG SCREWS BTG, Woh HEADER REGISTERED ENGINEER OR ; £ 167 B S, Scaews 1o
0 6" 0.C W/1 1/2" Min. ARCHITECT PRIOR TO SHUTTER LOCATE SCREWS AT MIDWMOTH
PENETRATION TO EXISTING “ INSTALLATION, / OF EXISTING WOOD MEMBER,
% WOOD HEADER. / 1/4" #-20 x 1/2° S. S. (2° Min. NOMINAL WIDTH) W/ WOOD TRUSSES OR RAFTER
. . CHINE BOLT W/ NUT & 2" Min. PENETRATION, O 247 0. C. REQUIRED
A / § ] $ WASHER @ 12" 0. C. ’
L]
: ' : AU . . 1/4" 8 x 3" LAG SCREWS A
| ; 38 e i\ 7/8"8 x_3/32" WING 060 C w1172 8y
/ ) /“' ﬁw"zg oﬂ/i-RY sTUD Min. PENETRATION TO 60/ N ¥
r { { f — ' . G EXISTING WOOD BEAM % 4
d : ] b V] 15! e i
§ o !§ *
% ; % - t E0__£0
A Gont. E§ g °_@ o
/] ] : comm '—® § N g
L —— - :) i 00 HEADER g SEE SCHEDULE -3
i H H REQ'D. 5‘ FOR Min, SEPARATION g
! 4 = i SEE_SCHEDULE FOR Min, té —{ 10 EXISTING GLASS i, 3~ W -
i , § ! SEPARATION TO_EXISTING GLASS - § i\_ .500 \ e 800",
' ] A ; ' Q
§ 1/4° 8-20 x 1" 85 H . 14 x 3/4" a;
I _ SEE SCHEDULE i 'S W/ 7/8" 8 x I | . . i i g x N
! FOR Min. SEPARATION i ALTERNATIVE 3 : /4" #-20 x 1 | {1/4* 8-20 x 1° S ‘
TO EXISTING GLASS X M’;,‘-’ } i , ! S5 S W/ ! g 050 cC Cant, *,
THE M e oy &2 ' S yorr | ‘
ALTERNATIVE 1 o EVERY OVERLAP ALTERNATIVE 5 WG )
1/4° 9-20 x 178S. | AT THE MIDSPAN. EVERY OVERLAP § 3
W.s w/ 7/5' . x AT THE MIDSPAN. ! S %]
| 3/32° WNG MUT © SEE_SCHEDULE @ 3
OVERAP AT ‘ ' FOR Min. ga
THE MIBSPAN, . ] | SEPARATION TO 2
I SEE SCHEDULE % o 1/4° #-20 x 1° 1/4" 8-20 x 1° Q
/ EXISTING GLASS |, _
FOR Min, SEPARATION | 2D SEE SCHEDULE -;éa,“s 'g . |55 M.S W/ —- <
ey ereyor B3 o M e Bl BT =
TO _EXISTING G Emy OVERLAP n
| e wr g/ § AT THE MOSPAN, —of TO EXISTING GLASS 5“,"“,,’;;",‘},5’,’};:”, 1/4" 8-20 x 1°
EVERY. . 5.5 M5 W/
@ 1270 € g :4 . j 7/8" o x 332"
I Q a ~ o WING NUT ©
S 3l B ~
) g g § 5 lJS‘-I AT THE MIDSPAN.
' (®) v il e g5 ALTERNATIVE 7
LT A 1) 3 00 §
e
i SO - |
= ' 8 = T 3
[ \ 1 g ‘ t v N'&
e Q [~}
/1 o I8 ! / ‘ R *
L . & [
/ % —\ S !
o N, jow .
yATe Q m’ 7/8" 8 x 3/32° WING
1/4° x 1 1/2" uc-/ A VY 7 ey g L NUT © EVERY STUD ©
exsTG woos nesoen ALTERNATIVE 2 RecuReD % i 7 4 e % 2o ¢
e @)
A ' x 4" PLATE 1/4°® x 3" LAG SCREWS O 6° PLATE CONT. “—CONT. PRODUCT REVISED
i REOUIRED O.C W/1 1/2" Min. PENETRATION REOUIRED #s complying with the Floridz
LU_—\ TO EXISTING WOOD PLATE. 1/4" x 3" LAG SCREWS © 6" Buiding Code 15.01
/ &D 0.C W/1 1/2" Min. PENETRATION Accepiance No 03-0l15.0
// WJ AL[ERM_[L“ TO EXISTING WOOD PLATE. Expiration Date ool
" / - - %ami Da duct Controi
SECTIONS A scuc: 3/8" = 1 SECTIONS B SCALE: 3/8" = 1 Division
8 »
™~ NOTES: F.B.C. (HV.HZ.) / MIAMI~DADE COUNTY
~WOOD PLATE
1. INSTALLATIONS ARE VALID ONLY FOR DESIGN WIND LOADS AND ' P
REQUIRED Max. PANEL LENGTHS AS PER SCHEDULE ON SHEET 3 OF & ’ 24 GAGE STEEL STORM PANEL oy
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN . ; 2603
A PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. i
ALTERNATIVE WOOD FRAME CONDITION | [ILTEC O 1. \ |4ttras summicae suurrees. ine.
NOTE FOR COMBINATION OF SECTIONS: ~—= TILLIT TESTING & ENGINEERING COMPANY OPA~LOCKA, FLORIDA 33054 03-030
& ANCHOR LOCATION AT BOTTOM FLOOR) WALL/ CEILNG MOUNTING SECTIONS CAN B COMBINED S T e i g 4 R o e o
. 1/4" = 1* IN ANY WAY TO SUIT ANY INSTALLATION. iy 4 v | oo ] o | v | aescaera | o
SCALE: 1/4" = 1 p - T - -
: FEB 1 2 2003 WALTER A. TILLIT Jr., P. E. 1 apor-za | 03 SHEET 5 OF 6
NOTE : SHUITER TRACKS NOT SHOWN FOR CLARITY FLORIpA Lic, 44167 2 = — = -




e e

£q

¥

—

1/4°8 x 3" LAG SCREWS @ 6" 0.C

W/1 1/2° Min, PENETRATION TO

EXISTING WOOD HEADER.

33

WOOD HEADER
REQUIRED —

SN NSNS N NNNN

it

Cont.

WOOD HEADER |
REQUIRED |
|
‘/{ﬁ‘ n "‘; 1/4" #-20 x 1"
i 5.5, M.S W/
7/8" 8 x 3/32"
WING NUT @
EVERY OVERLAP
AT THE MIDSPAN.
A )
Vv
e I A‘,
SEE_SCHEDULE |
FOR Min,
SEPARATION T0 |
M.:
|
]
o
I
|
|
I

£Q

Mox. PANEL LENGTH “L" (SEE SCHECULE)

f

PANELMATE @ 6° 0.C. W/ 1 7/8°

i \ ,
\—1/4" #-20 ELCO MALE/FEMALE
2% x\4” PLA s
REQUIRED
' PLATE,
-

PENETRATION TO EXISTING WOOD

N
AN

”ﬁ

1/4°8 x 3° LAG SCREWS @ 6" O.C
W/1 1/2° Min. PENETRATION TO
EXISTING WOOD HEAGER.

SN NN NAN NN N
A

1/4" #-20 ELCO MALE/FEMALE

A
T |
PLATE.
/ -
AN AN
%
e

REQUIRED

8's 1/4 8=20 x 1”
S.S. MS W/
7/8" # x 3/32"
WING NUT @ .
EVERY OVERLAP
| AT THE MIDSPAN.

h—

N

SEE SCHEDULE
FOR Min.
SEPARATION TO

:

0 HEADER

Max. PANEL LENGTH “L° (SEE SCHECULE)

EXISTING GLASS

RN OGNIRE

EQ

ANANAN

)
QUIRED
t

|
|
]
|
!
i
Vv
| \'4
|
|
|
|
* «
) IR§
s 2N
13
-
O

5

PLATE.

L] .
R3
JOOOORE N¥
I ] '
ha, .
5 -
It f Cont.
ik —®
SEE SCHEDULE |
FOR Min.
SEPARATION TO
EXISTING GLASS :
=~
Y
_'}\hr_ '\\; 1/4" #-20 x 1° 3
L-"S.5. M5 W/ 9
7/8" # x 3/32° 3
WING NUT O "
EVERY OVERLAP ('ﬂ
i AT THE MIDSPAN. 4
f 1 ]
..'14’_ AY !
V E
P
| DETAIL 2/2 o
: g
- \\ §
2" x 4" PLATE
/— REQUIRED
g
b

PENETRATION TO EXISTING WOOD
PLATE.

[ s
: o \—1/4' #-20 ELCO MALE/FEMALE -
- | PANELMATE @ 6" 0.C. W/ 1 7/8"
i

INTERNAL REMOVABLE PANEL {T)}—
W/SIDEWALK BOLTS (SEE DETAIL 2 ON

SHEET 2 OF §) CONNECTED TO (B) THRU
1/2"¢ HOLES ATB)® 6" 0.C &

FASTENED AT REAR W/7/8"#x3/32" WING
NUT @ EVERY SIDEWALK BOLT,

PAN,

ALTERNATIVE 9

PANELMATE @ 6" 0.C. W/ 1 7/8"
PENETRATION TO EXISTING WOOD

NOTES:

SHEET 3 OF 6

0.55 OR EQUAL.

1. INSTALLATIONS ARE VALID ONLY FOR DESIGN WIND
LOADS AND Max. PANEL LENGTHS AS PER SCHEDULE ON

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS
TQ BE SOUTHERN PINE No. 2, W/ SPECIFIC DENSITY OF

NOTE FOR COMBINATION OF SECTIONS:
WALL MOUNTING SECTIONS CAN BE COMBINED IN ANY
WAY TO SUIT ANY INSTALLATION.

\—7/4' #-20 ELCO MALE/FEMALE
PANELMATE © 6" 0.C. W/ 1 7/8"
PENETRATION TO EXISTING WOOD

PRODUCT REVISED

as complyiag with the Florida
Buiding Cede

-

Acceptance No 0.3
Expiration Date_ [/

Miami

Division

F.B.C. (HV.H.Z) / MIAMI~DADE COUNTY

/TiLIECo m \

FEB 1 2 20m

ILLIT TESTING & ENGINEERING COMPANY

. T
e i e T
e

—-0006719
WALTER A, TILLIT
ELORIRA Lic,

24 GAGE STEEL STORM PANEL A o
2/6/03
ALUFAB HURRICANE SHUTTERS, Inc. AT
13000 N.W, J8th Ave.
COMPANY | OPA~LOCKA, FLORIDA 33054 03-030
(365)871~1531 - e T s e DRAWING No
g7 © " . " ~—! SHEET 6 OF 6




